Fibonacci Quart. 42(2004), no. 4, 295-299.

# SOME IDENTITIES FOR BERNOULLI AND EULER POLYNOMIALS 

Ke-Jian Wu ${ }^{1,2}$, Zhi-Wei Sun ${ }^{1}$ and Hao Pan ${ }^{1}$<br>${ }^{1}$ Dept. of Math., Nanjing University, Nanjing 210093, P. R. China<br>${ }^{2}$ Dept. of Math., Zhanjiang Normal College, Guangdong 524048, P. R. China

(Submitted January 2002 - Final Revision July 2002)

## 1. Introduction

Let $\mathbb{N}=\{0,1,2, \ldots\}$. The Bernoulli polynomials $B_{n}(x)(n \in \mathbb{N})$ and the Euler polynomials $E_{n}(x)(n \in \mathbb{N})$ are defined by means of

$$
\frac{z e^{x z}}{e^{z}-1}=\sum_{n=0}^{\infty} B_{n}(x) \frac{z^{n}}{n!} \quad \text { and } \quad \frac{2 e^{x z}}{e^{z}+1}=\sum_{n=0}^{\infty} E_{n}(x) \frac{z^{n}}{n!}
$$

Those $B_{n}=B_{n}(0)$ and $E_{n}=2^{n} E_{n}(1 / 2)$ are called the Bernoulli numbers and the Euler numbers respectively. From the definitions we can easily deduce the following well known properties:

$$
\begin{aligned}
& B_{n}(1-x)=(-1)^{n} B_{n}(x) \text { and } B_{n}(x+1)-B_{n}(x)=n x^{n-1} \\
& E_{n}(1-x)=(-1)^{n} E_{n}(x) \text { and } E_{n}(x+1)+E_{n}(x)=2 x^{n} .
\end{aligned}
$$

In 1995 M . Kaneko [1] found that $B_{2 n}$ can be computed in terms of those $B_{i}$ with $n \leq i<2 n$, namely he proved the formula

$$
\sum_{i=0}^{n}\binom{n+1}{i}(n+i+1) B_{n+i}=0 \quad \text { for } n=1,2,3, \ldots
$$

In 2001 H . Momiyama [2] extended the above result as follows: If $m, n \in \mathbb{N}$ and $m+n>0$, then

$$
\begin{equation*}
(-1)^{m} \sum_{i=0}^{m}\binom{m+1}{i}(n+i+1) B_{n+i}+(-1)^{n} \sum_{j=0}^{n}\binom{n+1}{j}(m+j+1) B_{m+j}=0 \tag{1}
\end{equation*}
$$

In this paper we aim to make further extensions by a new method.
Now we state our main results.

[^0]Theorem 1. Let $\left\{f_{k}(x)\right\}_{k=0}^{\infty}$ be a sequence of polynomials given by

$$
\begin{equation*}
\sum_{k=0}^{\infty} f_{k}(x) \frac{z^{k}}{k!}=e^{(x-1 / 2) z} F(z) \tag{2}
\end{equation*}
$$

where $F(z)$ is a formal power series. Let $m, n \in \mathbb{N}$. If $F$ is even, i.e. $F(-z)=F(z)$, then

$$
\begin{equation*}
(-1)^{m} \sum_{i=0}^{m}\binom{m}{i} f_{n+i}(x)=(-1)^{n} \sum_{j=0}^{n}\binom{n}{j} f_{m+j}(-x) \tag{3}
\end{equation*}
$$

if $F$ is odd, i.e. $F(-z)=-F(z)$, then

$$
\begin{equation*}
(-1)^{m} \sum_{i=0}^{m}\binom{m}{i} f_{n+i}(x)=-(-1)^{n} \sum_{j=0}^{n}\binom{n}{j} f_{m+j}(-x) \tag{4}
\end{equation*}
$$

This general theorem will be proved in Section 2. Now we give a consequence of it.

Corollary 1. Let $F(z)$ be an even or odd formal power series, and let $f_{k}(x)(k \in \mathbb{N})$ be given by (2). Let $m, n \in \mathbb{N}$ and $\varepsilon=1$ or -1 according to whether $F(z)$ is even or odd. Then

$$
\begin{align*}
& (-1)^{m} \sum_{i=0}^{m+1}\binom{m+1}{i}(n+i+1) f_{n+i}(x) \\
= & -\varepsilon(-1)^{n} \sum_{j=0}^{n+1}\binom{n+1}{j}(m+j+1) f_{m+j}(-x) . \tag{5}
\end{align*}
$$

Proof. Clearly $-z F(-z)=-\varepsilon z F(z)$ and

$$
e^{(x-1 / 2) z} z F(z)=z \sum_{k=0}^{\infty} f_{k}(x) \frac{z^{k}}{k!}=\sum_{k=1}^{\infty} f_{k}^{*}(x) \frac{z^{k}}{k!}
$$

where $f_{k}^{*}(x)=k f_{k-1}(x)$. In view of Theorem 1, we have

$$
(-1)^{m+1} \sum_{i=0}^{m+1}\binom{m+1}{i} f_{n+1+i}^{*}(x)=-\varepsilon(-1)^{n+1} \sum_{j=0}^{n+1}\binom{n+1}{j} f_{m+1+j}^{*}(-x)
$$

which is equivalent to (5).
Observe that

$$
\sum_{n=0}^{\infty} B_{n}(x) \frac{z^{n}}{n!}=e^{(x-1 / 2) z} \frac{z}{e^{z / 2}-e^{-z / 2}}
$$

and

$$
\sum_{n=0}^{\infty} E_{n}(x) \frac{z^{n}}{n!}=e^{(x-1 / 2) z} \frac{2}{e^{z / 2}+e^{-z / 2}}
$$

Also,

$$
\begin{aligned}
& B_{m+n+1}(x)+(-1)^{m+n} B_{m+n+1}(-x) \\
= & B_{m+n+1}(x)-B_{m+n+1}(1-(-x))=-(m+n+1) x^{m+n}
\end{aligned}
$$

and

$$
\begin{aligned}
& E_{m+n+1}(x)+(-1)^{m+n} E_{m+n+1}(-x) \\
= & E_{m+n+1}(x)-E_{m+n+1}(1+x)=2 E_{m+n+1}(x)-2 x^{m+n+1}
\end{aligned} .
$$

So Theorem 1 and Corollary 1 imply the following result.
Theorem 2. Let $m, n \in \mathbb{N}$. Then

$$
\begin{equation*}
(-1)^{m} \sum_{i=0}^{m}\binom{m}{i} B_{n+i}(x)=(-1)^{n} \sum_{j=0}^{n}\binom{n}{j} B_{m+j}(-x) \tag{6}
\end{equation*}
$$

and

$$
\begin{equation*}
(-1)^{m} \sum_{i=0}^{m}\binom{m}{i} E_{n+i}(x)=(-1)^{n} \sum_{j=0}^{n}\binom{n}{j} E_{m+j}(-x) ; \tag{7}
\end{equation*}
$$

also

$$
\begin{align*}
& (-1)^{m} \sum_{i=0}^{m}\binom{m+1}{i}(n+i+1) B_{n+i}(x) \\
& +(-1)^{n} \sum_{j=0}^{n}\binom{n+1}{j}(m+j+1) B_{m+j}(-x)  \tag{8}\\
& =(-1)^{m}(m+n+2)(m+n+1) x^{m+n}
\end{align*}
$$

and

$$
\begin{align*}
& (-1)^{m} \sum_{i=0}^{m}\binom{m+1}{i}(n+i+1) E_{n+i}(x) \\
& +(-1)^{n} \sum_{j=0}^{n}\binom{n+1}{j}(m+j+1) E_{m+j}(-x)  \tag{9}\\
& =(-1)^{m} 2(m+n+2)\left(x^{m+n+1}-E_{m+n+1}(x)\right) .
\end{align*}
$$

Clearly (8) in the case $x=0$ yields Momiyama's formula (1), and (9) provides a recurrent formula for Euler polynomials.

Putting $x=0$ in (6) and $x=1 / 2$ in (7) we then get

Corollary 2. For $m, n \in \mathbb{N}$, we have

$$
\begin{equation*}
(-1)^{m} \sum_{i=0}^{m}\binom{m}{i} B_{n+i}=(-1)^{n} \sum_{j=0}^{n}\binom{n}{j} B_{m+j} \tag{10}
\end{equation*}
$$

and

$$
\begin{equation*}
(-1)^{m} \sum_{i=0}^{m}\binom{m}{i} \frac{E_{n+i}}{2^{n+i}}=(-1)^{n} \sum_{j=0}^{n}\binom{n}{j} E_{m+j}\left(-\frac{1}{2}\right) . \tag{11}
\end{equation*}
$$

## 2. Proof of Theorem 1

Suppose that $F(-z)=\varepsilon F(z)$ for all $z$ where $\varepsilon \in\{1,-1\}$. Consider the generating function

$$
G(x, y, z):=\sum_{n=0}^{\infty} \sum_{m=0}^{\infty}\left((-1)^{m} \sum_{i=0}^{m}\binom{m}{i} f_{n+i}(x)\right) \frac{y^{m}}{m!} \cdot \frac{z^{n}}{n!}
$$

What we have to show is the identity $G(x, y, z)=\varepsilon G(-x, z, y)$. Changing the order of summation, we obtain

$$
\begin{aligned}
G(x, y, z) & =\sum_{n=0}^{\infty} \sum_{i=0}^{\infty} \sum_{m=i}^{\infty}(-1)^{m}\binom{m}{i} f_{n+i}(x) \frac{y^{m}}{m!} \cdot \frac{z^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \sum_{i=0}^{\infty} f_{n+i}(x) \frac{z^{n}}{n!} \sum_{m=i}^{\infty}(-1)^{m}\binom{m}{i} \frac{y^{m}}{m!} \\
& =\sum_{n=0}^{\infty} \sum_{i=0}^{\infty} f_{n+i}(x) \frac{z^{n}}{n!} \cdot \frac{(-y)^{i}}{i!} e^{-y} \\
& =e^{-y} \sum_{k=0}^{\infty} \sum_{i=0}^{k} \frac{f_{k}(x)}{k!}\binom{k}{i} z^{k-i}(-y)^{i} \\
& =e^{-y} \sum_{k=0}^{\infty} f_{k}(x) \frac{(z-y)^{k}}{k!} \\
& =e^{-y} e^{(x-1 / 2)(z-y)} F(z-y) \\
& =e^{x(z-y)-(y+z) / 2} F(z-y) .
\end{aligned}
$$

From this, we have

$$
G(-x, z, y)=e^{-x(y-z)-(z+y) / 2} F(y-z)=e^{x(z-y)-(y+z) / 2} \varepsilon F(z-y)=\varepsilon G(x, y, z)
$$

as desired.
Acknowledgment. The authors thank Dr. Yi Wang for his helpful comments, and the anonymous referee for his or her valuable suggestions.

Added in Proof. The main results of this paper were further extended in [3] by the second author.

## References

1. M. Kaneko, A Recurrence Formula for the Bernoulli Numbers, Proc. Japan Acad. Ser. A. Math. Sci. 71 (1995), 192-193.
2. H. Momiyama, A New Recurrence Formula for Bernoulli Numbers, Fibonacci Quart. 39 (2001), 285-288.
3. Z. W. Sun, Combinatorial Identities in Dual Sequences, European J. Combin. 24 (2003), 709-718.

AMS Classification Numbers: 05A19, 11B68


[^0]:    The second author is responsible for all the communications, and supported by the Teaching and Research Award Program for Outstanding Young Teachers in Higher Education Institutions of MOE, and the National Natural Science Foundation of P. R. China.

